
1/7

150KG

TINTO TABLE

1200

800

760



2/7

1
2

3

4

1X1
2X1
3X4
4X1

M8*20MM

AX24

M6*55MM

BX3

M8*16*1.5MM

CX24

5MM

FX1

 

EX6

M6*16*1.5MM

DX3



3/7

F
A
C

3

4

M8*20MM

AX8

M8*16*1.5MM

CX8

5MM

FX1



4/7

F
B

D

F

A
C

2

4

3

1

M8*20MM

AX16

M6*55MM

BX3

M8*16*1.5MM

CX16

5MM

FX1

M6*16*1.5MM

DX3



5/7

E

 

EX6

4

3

2

1



6/7



7/7


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



